2017 (A) e y
$SSC PART-I (3th CLASS) =
MATHERIATICS (SCIENCE GROUP) GROUP-| b - oof (o S

TIME ALLOWED: 2.10 Hours

MAXIMUM MARKS: 60
NOTE: -

Write same question number

SUBJECTIVE .2 Fal) = &b

60 =
e lmbe g I badan s dide i

and its part number on answer book, as given in the question paper.

2. Attempt any six parts.

) 30 6
{i) If A=[_] EJ and B:{J

then find 48

(i) Define Singular Marrix.

(i) Simpify [ % T

(v)  Findthevalugof x and ¥ if

(v)  Write in Scientific Notation. 4169
. 1

Vi Evaluate, log, —

) i

(vil) Evaluate ¥~ ¥ i

i
m

{viil)  Definz Surd.

(x) Factorize. 128am’ — 242an°
3. Attempt any six parts.
(1) Fnd HCF of 39«7z,

() Solve the equation. 3r+4=2
(i) Solve |3x+10| = 5x+6

(v} Define Collinear Points.

91 x*3"z7

SECTION- i@
12=2x86 -5

T T g { |y
/MR T E = 2

’ m 6 30 # .
“Sie AB e B = Lol e ol I
A {5 ; [_I 2} i

= -
X+iy+l=94-3 Mradp » 4% (W)

189 Atdide ()

1 ¥ i
log, = -._,f,JF‘;L”:,{ (vi}

=k A % 44
ry-22 JAered (i)
X=Z

A AL (il
wif S 7 (ix)

@2 £

128am’ — 242an°

12=2x6 _ixf._epl_r"’c_.'ﬂﬁ‘c.-uf -3 e':UJr
39x'y'z, 91 x%y'z f_*"“"'r‘ ':L’r (i}
Srvd=1 &l (i)

RN )

|32 +10] = 5%+ 6

b ales W)

-E&["J"-'-“’L'«‘ ¢ ol f--“'lb...'*..afd y=mx+e { Ix—y-1=0 (V)

(v} Firdvalugof m and ¢ by expressing 3x+ y~1=10 intheformof y=mx+e¢

(Wi} Find the distance between the pair of points.

(vii)  Find the mid point between the points

A(7,2) and B(9. 2).
(vili) What is meant by $.A.S pestualte?
(iX)  Inthe given parallelogram ABCD
Find the valueof x and m .

': i' Lj)! }

A(-8.1), B(6,1) E el M (i)

SNt B9.2) 4 A(7.2) S (vil
il sy S (Vi)
WAPEY m o x L& ABCD Liews y‘fw (i)

D 4

[ 5m+ 1) ”\-TA\/
1 B

£




4 iz]'
4. Attempt any six parts. / ' 7 7 2=2 -Ef.:;J;a‘LIﬁﬁFZZF%’;Sf -4/:U!r
()  Whatis meantby Converse of Theor e L L )
il Canatriangleoflengths 3cm |, -2 upo f_-f e QUL Som o dem o dem W il
dem and Sem  beformed? Give reason.
(il)  Define Congruent Triangles. ol i
(iv)  Inisosceles APOR , Eedl Y o v & OPOR SBAUGS (W)
find the value of x and » . P \
1 e 4 X
0 L 1Fl_l_ R . .
(v}  Define Pythagoras Theorem. ? -gi_gr,ﬂuf;;f@;f# vl
i) Firdthe value of x . Eepdl o
4 13om

. "
i) Wnat is meant by Triangular Region? E"..;‘:I,,»LJ':..JM,J’ (vii)
vil)  Constructa AABC ,inwhich mAB =4.2cm, mBC =39cm, mCA=3.6em LU ‘&b AABC  (viil)

lix)  Define Centroid. igfh.é*ﬁb( Lfﬂ:f (ix)
SECTION-Il 702
. ; ’ - ;
28=8x3 EESSTIN V28 -y P12 S 0. )
NOTE: - Attempt any three questions.”Question No.9 is compulsory.
5.(A) Solve by Crammer's Rule. dx+y=90,-3x-y=-5 «éi:u]’:.ul;w"iﬂx{; (1).5
8) Simpliy, F < o ZF (L)
a’ ﬁﬂl
5.(A) Use log table to find the value of h,‘l "H}'?m;ﬂ“;“'ﬁ -ér?".:af;.ubfdwﬁﬁr' ()6
B) If x+ ]; =3 thenfind the value of x* + i‘ ,_‘.f-;"rﬂ’..:édj '+ L‘ - R Ji (<)
X X X
7.(A) Faclorize. x* + 48x —12x* — 64 x' 4+ 48x - 12x° - 64 -:é;‘f (-7
(B) Use Division Method to find the Square Roct of .gj.i:r}*’&;'u&(.‘j" :ij_- (o)
45 + 125y + 9p° +16x + 243 + 16
1. %, 2_5 a4t . . _
BI:A] Solye E [ e E E E + 5[ E s 5 ] -L,.l:a)ulp {-..-IJJ::'-E
(B) Construct the A4BC and draw the bisectors of its anges. .L,:;‘:'"&.Jﬂtiug;ui vl u-uffl:; AABC {._.f}

mAB = 4.5¢m, mBC = 3.1cm. mCA =52em

9. Prave that the right bisectors of the sides of 3 - ujé'..ﬁbﬁlfl e el sl :‘g_.— B -9
triangle are concurrent, OR |
i # .- - p rﬂﬁ‘ =z
Prove that the triangles on equal bases and Oustslef i Unelellinle sBL P SIS

of equal altitudes are equal in Area.
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ADLY
SSC PART-I (9th CLASS) :
MATHEMATICS (SCIENCE GROUP) GROUP-Ii s wead (end )
” ;
TIME ALLOWED: 210 Hours SUBJECTIVE .¢l» :Ez.m =
MAXIMUM MARKS: 60 60 = ~f
NOTE: - Write same question number el Jras Euﬁf;‘.:?.:aﬂ{r-"rl.l|ru.’!x;éEl:!lm sy
and its part number on answer book, as given in the question paper.
SECTION-| JiLo

2. Attempt any six parts. 12=2x6 Y felnlizigaf 240y
(i} Define Symmetric Matrix. ig:’ﬁ.éf;f"._f.__.é SJA

r [47 g g
{ii) Find the product of {1 2] ;] [1 2 ] 0| -,,;.rl‘*ﬂ"d‘ l.pd i (n)
(i} Simplify (\;r:} -3 )" and write in the formof a + b ;;: g Pﬁ; a+hi './'"J («.H = 3i ) (i)
(v) Evaluate. ¥ A ()
(v)  Express in Scientific Notation. 5700 5700 -&ULARSE (W)
(v} Find the value of * when log,.8 = % log,, 8 = g -{-’éufﬂ?ll"’éfdﬁ - (vi)
v Ba(x+1) Ba(x +1) - h

' iy, — L
(vil)  Simplify o 1) 2 1 {vii)
(vil) Simplify. 21 x V7 % V3 v21 % 7 % 43 4{*’ (i)
(i}  Factorize. 128um* - 242an 128am’ - 242an° -x.-_"fr-.ff- (ix)
3. Attempt any six parts. 12=2x8 B By "f;, -3 7y
(1) Use factonzation to find the square root, 457 < 12x+ 9 _ifr* g,flu:-&.'.; FERE: 3 {i}
(1) Define Linear Equation. -..f,-...:- ~- =il /f ) fad (i)
(i) Find the solution set of 32 +10| = Sx+6 A { NP
(v)  Whatis meant by an Ordered Pair? ciple il (i)
(v)  Find the values of ‘m' u_éf',f:‘*’v-:"“-i}f comom LhGgy=mte f x-3y=_2 cij (v)

and ‘¢’ by expressing the given equation x - 23 = -2 inthe formof » = mx + ¢
(vi)  Find the distance betwean the given pairs of points. 4( -8.13, & (6,1) "fl ‘*"”‘.Wbl,&v'.uh.,_,.u.r’d..}ﬁ'r_al (wi)

(vil)  Find the mid-point of the -._%_}Fﬁ-',.}g.-Jras.@_uif_L1..{;,:;:{..ﬂ 2.-6). B3 -6)6LL, (i)
line segment of the given pairs of points. A( 2. <6 ), B(3,-6 )
(viil) Whatis meantby (5SS. = SS88§)? el (LS = AP i)

(i) Find the unknown values in the given figure f:““ Napeys u.._,f:f"j:: (ix)

(&1 gw)




£ QL '(2)
r‘-‘ I( - - - - L o L]
4. Attempt any six parts, V 2=2x6 -é.{faf,lﬁglr.!{;_.;}! Ay
() Whatis meant by Converse of Theorem? ?-';-JL:‘LI:-JE:--K’ (1)

(i)~ dcm, 4cmand 7 cm are not the lengths ..z_:fij..*.»}m;d{- -;_,{_.';,,C-"L,,'gﬁ'ra';j’{,.l,t'-ﬂi..‘.ﬂ-‘-b a4 3 i)
of .atriangle. Give tne reason in detall.

(i) Define Proportion. A [ ()
mMN =8cm sl mIM = 6em, mLN =4cm ﬁf;_t,l.ﬁ.i-fti L oti L4 (& ALMN i"{?.j: (v)
(V) Inthe given figure ALMN , 74 bisects ZL | -E’;_{I*P mAN 5 mMA Jx
f mLM = bcem, mIN =4dem and mMN = 8cm I

thenfind mMA and mAN

) State Converse of Pythagoras Theorem. _ -é@'kéx; s W)
(vl Findthe value of unknown X in AABC . AC Eemed x o adBe (i)
X // "3
/ V2em
A
lem —
(vii)  Define Triangular Region. _if P08 (vii)

Vil Construct AABC inwhich  mAR = 48cm, mBC =3Tem, mZB=60" SASek ABC &b i)

(X} Define Circumeente of & Triargle, _ﬂé_éf'ur}}afkiﬂ (i
SE‘G’iFIQN-I] I:}J:-ﬁ’ - —
® 4 i 1 -
24=8x3 <G 9 -y -é;fakb?&.:.eﬂ!rwf:c_,w oy
NOTE: - Attempt any three questions. QuestioniNo.9 is compulsory.
5.(A) Solve by Cramer's Rule. 2x -2y =4, 3x+2y=6 ESe ol 4f ()5
Ao a8 " A A v (604 .
(8) Simgify, —2 % (27) _:I{é’-ﬂ} . 2 3 (27) X WD}ET S L)
(180)% x (4) %4 x (9 (180)% x (4)% x (9)4
2ot fanee - - i
6.(A) Use Log table to find the value of L%:‘E; EBWE ISl (e
(348)
2 1 o : ]. » - #
B) if p=2++3 thenfind 7 '*? -q)[' afy P +F e p=2+3 J ()
AL I x=-1 isa -qx}.ﬁ‘;&f kondA28 ' —kx +11x - 6 L,E,«:f x=1 Ji (.7
factor of x' — kx* + 11x — 6 , thenfind the value of & )

(8} Find square root by Division Method. Ox' - 62" + 727 —2x + 1 .U;J}:l’ﬁ‘:i,lgui_w'f ()
8.(Al Find the sclution set of Mol a8 AL L 3rJ S f ()8
o ) 2\ 6J'3_6 g " IR .
(Bl Construct AXYZ and draw its medians. ..if_-‘r;;.l.h_aﬁ,_;m'?_.h XYZ &b (L)

mXY = 4.5cm. m¥Z =34 cm, mZX = 5.6em
9 Prove that any point on the right Bl Sl il B inl i B B ,Eﬁ_.q._"lﬁj;;i..:.: ¢ 9
bisector of a line segment is equidistant from its end points, OR |

Ji'd!:d'r.;_ﬁ,,:n: ( u'.‘:x:'.ct;@-’r'.iulé I ﬁf’lp‘lszﬁé.hil,,‘J' .a"'f"ﬁu"lgl'ﬁnﬁﬁﬁl_,lﬁ'{;"uﬂf'd}|? E'J.geﬁﬁ':j",.&i@:.#
Frove that Parallslograms on the same base and between the same parallel lines(or of the same altitude|
will be equal in area.
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